Class No. : |

| SECOND YEAR - FIRST TERMINAL EVALUATION 2019 - 2020

Part - 111 Time : 2% Hours
ECONOMICS Cool-off time : 15 Minutes
Maximum : 80 Scores .
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( General Instructions 1o Candidates :

® There is a ‘Cool-off time® of 15 minutes in addition to the writing time,

' Use the ‘Cool-off time” to get familiar with questions and to plan your answers,
Read questions carefully before answering,

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself,
Malayalam version of the qQuestions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in .the
Examination Hall,
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Answer any 10 questions from 1 to 12. Each carriés 1 score. (10x1=10)
i 1. “An Enquiry into the Nature and causes of Wealth of Nations” is the book written by

() J.M. Keynes (b) Adam Smith

(¢) Alfred Marshall (d) Paul A, Samuelson

2. Problem of Resource allocation deals with :
() What to produce ? (b) How to produce ?
(¢) For whom to produce ? (d) None of these

3. When the income of the consumer increases, the demand for an inferior good;
(a) Decreases (b) Remains unchanged

{c) Increases (d) None of these

4. The cost incurred for an additional unit of output is :
(a) Opportunity cost ~ (b) Marginal cost

(c) Average cost (d) Variable cost

5. Gross value added — Net value added =
{a) Depreciation ' (b) Value of intermediate consumption

(¢) Value of inventories - (d) Net Indirect taxes

Write suitable Economic term for the following :

6.  Inverse relationship between price of a commodity and its quantity demanded.
7. The preference of the consumer as more quantity is always preferred to less quantity.

8. Part of national income received by Households.

9. Sum of the gross value added of all the firms in an economy.
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10.

11.

12

13.

14,

15.

16.

17.

18.

19.

Correct the statements if necessary

Net Indirect tax = Direct tax — Subsidy
GDP = GNP - Depreciation
Wage is the remuneration for using land in the production process,

Answer any § questions from 13 to 18, Each carries 2 scores, 5x2=10)

Identify four major sectors in an ¢conomy according to macro economic point of view,

“The Marginal Product (MP) curve looks Jike an inverse ‘U’ shaped curve,” Explain
the reason, -

Classify the following statements into micro-economics and macro-economics,
(@) Fish prices are increasing now-a-days.

(b) India’s unemployment rate hit 6,1 % in 2017-18.

(¢} India’s percapita income was § 1670 per year in 2016,

(d) Keltron employed 200 more workers in the year 2018-1 9.

State any two reasons which causes rightward shift of demand curve,
Differentiate stock variables and flow variables,

Differentiate substitute goods and complimentary goods,

.;\nSWer any 6 questions from 19 to 25, Each carries 3 scores. (6x3=18)

(@) Calculate price elasticity of demand based on the demand curve given below,
when price increages from¥4t07 8. 2

(b) Comment the nature of elasticity.
y

Price

£ oo
w]

ol 5 20
Quantity Demanded

STE 35 : 4



10.
11.

12.

13.

14.

15.

16.

17.

18.

19.

(IOAMGEDS HOQOMBERIG GIOJTM)E:.
@0 aIGE0BH @SN = (ImB Tl - auenioilas

sfl.al.all. = g.ag)@B.all.— DRI,

Eia0RM (aIElooiod @;m’l Dalcouflammaimes wasﬂnneimosm' COImTMo.

13 ajo@d 18 AIOow]8s caloaymnglcd uagem'leqo 5 af)gRATIN) DTNOHADYD) B>
2 capod ailwo. 5x2=10)

qunel  UoMIETld  OER  @¥alansial @80y muaus m;mcmnmﬂsae_l 4
?)aU GBI GIdly i) -

“mllaomm . ©einGm Qe ®elsivow ‘U’ @B ILIOET SHEMea|SIIM®) .
BHODEMo nﬂu‘odlosarﬂmg&.

@I cm‘rﬂgggg (LTROIMEB, TU)BHDAVOMIGTS VBTRe, TUME LIS
ROERe A AAEBOM B0 GBS

(a) gpvieswonl acruy aller aidesleemm;.

(b) 2017-18-@8 pamyad emeilelejoa 6.1 % agowil.

(©) 2016-08 DIOS (n1@HBIBas QUGBOMo ABako § 1670 @R@i@IIM].

(@) 2018-19-@3 o@cdesoam 200 6mOFIEIESBRES @)S] ao0AaE Mol

CalOBMAIERETANG  QUIRICANOSISS MUNIMA0QETIMER agga@aa:lm;a osng’
B0MIRUS niaoallen)s.

GUOAID 2IRRNG]o (A0 2 10EBE) ®2AlENSS a1y Pave Gldlaldla)e.

(IBITI00AIM AINTDEOBIC alj0d AUTVDE0S) MaLNSs AmPRIVe CdlaOi)d.

19 Ay @3 25 AInoWIBs Galosianglal agomeslels 6 ng)q;;cmﬂm' DOMOHAPYTN b,

3 aapod ailmo. (6x3=18)

(a) ooy mariges aveEDilang ardauoomonicd peiaimm afles 4 oyl
oo’ 8 ejuicniss aidaslenemiod cansmEpiend aflel emGHe®

BENENOEE ).
(b) DERNVTHMWOS (rldbiBo BRElRIOWEI|S).
¥

D

Price
oo
o

0 5 20
Quantity Demanded

SFE3S - 5 . p1.b¥



20.

21.

22.

23.

24.

25.

There are three firms in a locality : A mining company, a steel producer and a car
manufacturer. Mining company sells ¥ 200 crores worth of iron ore to the steel
producer. Steel producer sells ¥ 450 crores worth of steel to car manufacturer. Car
manufacturer sells T 700 crores worth of car to general public. Find the value added by
each producer.

Classify the following under suitable heading :

Profit motive, Social welfare, Planning mechanism, Price mechanism.

Identify the cost curves given in the following diagram.

c

e
o

Costs

®

=

Output

Prepare a brief account of the emergence of modern Macroeconomics.

-

Distinguish between planned accumulation and planned decumulation of inventories,

Complete the following flow chart and categorise the flows into real flow and money
flow,

Firms ' House Holds
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Answer any 4 questions from 26 to 30. Each carries 4 scores. ' 4x4=16)
26. Graphically explain any two features of Indifference curve.

27. GDP of India has expanded by 2.57 times from 2004-05 to 2018-19. Does it indicate an
increase in the welfare of the people of a country. Give any 3 reasons to support your
opinion.

28. Rohit, a plus two class student plots following 3 points in a graph representing
Production Possibility Frontier.

(i) On the Production Possibility Frontier
(ii) Below the Production Possibility Frontier
(iii) Above the Production Possibility Frontier
(a) Define Production Possibility Frontier.
(b) What do these points explain ?

29. Sujith (a producer) increased all factors of production in the same proportion to
increase the level of output in his production unit.
(a) Identify the production function related with the statement.
(b) Explain that production function.

30. Graphically illustrate the point of Optimum choice (consumer’s equilibrium) of the
consumer.

Answer any 2 questions from 31 to 33. Each carries 5 scores. 2x5=10)

31. (a) Define Utility.
(b) Complete the utility schedule given below :

Unitsconsumed |0 (1 (2 |3 |4 |5 |6
Total utility 0 (8 |14 |18 |20 (20 |18
Marginal utility 7
(c) Based on the table, explain the Law of Diminishing Marginal Utility.

32. (2) Distinguish between Short-run Marginal Cost (SMC) and Short-run Average Cost
(SAC). | |
(b) Point out any three relationship between Short-run Marginal Cost and Short-run
Average Cost.
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33. The value of nominal GDP in an economy during a year is ¥ 75,000 crores. The value
of real GDP in the economy during the same year is ¥ 60,000 crores. Then;

(a) Calculate GDP deflator.
(b) How far GDP deflator different from Consumer Price Index (CPI) ?
(Hint : Any 3 points)

Answer any 2 questions from 34 to 36. Each carries 8 scores. 2x8=16)
34. (a) Write down the three identities of GDP according to National Income Accounﬁng.

(b) List out various steps of any 2 methods of measurement of national income.

35. Total product schedule of a variable input is given below :
(a8) Complete the table.

Variable Input 0 (1 (213 '4 |5 6 17 |8
Total Product (TP) 0 |2 |6 |14 ;20 |24 |26 |26 |24
Average Product (AP) '

Marginal Product (MP)

(b) Draw TP, AP and MP curves in a diagram.

(c) Based on the diagram, explain the law of variable proportions.

36. A consumer wishes to purchase two commodities. Price of good 1 is ¥ 2/- and that of
good 2 is ¥ 4/-. Money income of the consumer is ¥ 20/-. '

(a) Writé down the budget line equation and find out its slope.
(b) Prepare budget set
(c) Draw budget line

(d) The income of the consumer increases from T 20/- to T 40/-. Diagrammatically
explain its effect on budget line. -
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